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General Ihstructions :
(i) The question Dpaper has 30 questzons inall. All questions are compulsory.
- (71) Marks are indicated agamst each question. '

(iii) Questzons Jrom serial number 1 to 8 are Very Short Answer Questions. Each,
question carries 1 mark

(iv)  Questions Jrom serial number 9 to 20 are 3 marks questions. Answers of these
questions should not exceed 80 words each '

(V) Questions Jrom serial number 21 0 28 are 5 marks questions. Answers of these
questions should not exceed 109 words each,.

(vi) Question number 29 gnd 30 are map questions of 3 marks each from sttory and
- Geography both, After completion, attach the maps inside your answer-book.

OR
Name the writer who wrote the book “The History of the Loss of Vietnam.’

2. wmwaﬁﬁ%waﬁwﬁﬁm%o - 1

How does mining affect the health of miners ?
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If you are not interested to buy a brush with tooth-paste but shopkeeper denied to sell

tooth-paste only. In this case which consumer right is being violated by the seller 7 -

6. et i o T o o T e e e S 1 | .

Differentiate between ‘Sectional interest groups’ and ‘Public interest groups’.

7. mmﬁﬁwwﬁﬁmi&éwwﬁwﬁqﬁmm%? o

- Why is one party pdlitical system not considered a good democratic system 7.
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How does money eliminate the need for double coincidence of wants ?
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Classify industries on the basis of their main role. How are they different from each other ?
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What is a political party ? State any two points of the ideology of Bhartiya Janta Party.
. A . ;
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| Who led the protest against water privatization in Bolivia ? Describe the ways of ‘

protest adopted by that organization.
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How is the concept of Self Help Groups importarit for poor people ? Give your view

: point..’
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“There is a pressing need to use renewable energy resources.” Justify the statement

with suitable arguments.
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“Culture had played an 1mportant role in the development of nationalism in Europe

during eighteenth and nineteenth centuries.” Support the statement with examples.

OR
“French tried to solve educatlonal problems in Vietnam i in different ways.” Support the

statement with examples.

15. memmaﬁm@ﬁ'@?Wﬁw: o | _’ 3

Why did the different social groups join the Civil Disobedience Movement ?“Exfplain'.

16. mmmwwﬁmw msmsrmv—mﬁ éo“—rﬁ@ﬂmrw | TR
=l 39 ufafran & o § o v | 3

* Simon Commission was greeted with slogan fGo back Simon’ at arrival in India.

Support this reaction of Indians with arguments.
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“No party system is ideal for all countries and all situations.” Justify the statement

with arguments,
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How do large companies manipulate the market ? ‘Explain with examples.
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22.

23.

24,

25.
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, “Poor households still depend on informal sources of credlt ? Support the statement

with examples.
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“India is an important iron and steel producing country in the world. Yet we are not
able to perform t0 our full potent1a & Suggest and explain any three measures to get
full potent1a1
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Describe any five factors that promote the Multinational Corporations (MNCs) to set-

up their production units in a particular place.
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How did the ‘First World War’ create a new economic and political sitliations in

India ? Explain with examples.
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" Define the term ‘tounsm Why is tourism known as a trade ? Explain.
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‘Describe the major problems created by the globalization for a large number of small

producers and workers.
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“A public expression of dlssatlsfactlon with democracy shows the success of

democratic project.” Justify the statement.
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26.

27.

28.

29.
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- “Minerals are indispensible part of our lives.” Support the stateinent with examples.
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“Democracies are not appearing to be very successful in reducing economic

inequalities.” Analyse the statement.
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“Nationalism no longer retained its idealistic liberal démocratic sentiment by the last

quarter of the nineteenth century in Europe.” Analyse the statement with examples.

OR .
“Women were represented as warriors as well as workers in Vietnam in the 1960s.”

Analyse the statement with examples.
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Three features (A), (B) and (C)‘ are marked on the given poliﬁcal outline map of India. |
identify these features with the help of the following information and write their
correct names on the lines marked in the map : ,

(A) The place where the Indiah NationaI Congress Session was held.

(B)  The place where the ‘No Tax Campaign’ was started. |

(C) The place where peasants organized"a Satyagraha.
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Note : The follbwing questions are for the Visually Impaired candidates only, in

lieu of Qt No.29:

(29.1) Name the place where the Indian National Congress Session was held in
September, 1920.

(29.2) Name the place where ‘No Tax Campaign’ was started. '

(29.3) At which place did the peasants organize Satyagraha in Gujarat ?
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On the given political outline map of India locate and label the following with

appropriate symbols :

(A)' Nuclear Power Plant — Kélpakkam .
(B) Ir;)n and Steel Plant - | Rourkela
(C) Major Sea Port — kaﬁdla

32/2/3

7 ' [P.T.O.




e ﬁmﬁrﬁsﬂmmq&aﬁwnﬁm‘w o fore w1 e 30 % @ W

(30.1)

(30.2)
(30.3)

Note :

(30.1)
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(30.2)
(30.3)
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The following Questions are for the Visuallyimpaired Candidates only, in
lieu of Q. No. 30 : |

Iﬁ which state is Kalpakkam Nuclear Power Piant located ?

Name the state where Rourkela Iron and Steel Plaﬁt is located.

On which coast is ‘Kandla’ port located ?




Outline Map of India (Political)

For question no. 29
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